CHANGE ORDER NO.: 4

Owner:	City of Crete, Nebraska	Owner's Project No.:			
Engineer:	JEO Consulting Group, Inc.	Engineer's Project No.:	220169.00		
Contractor:	Constructors, Inc.	Contractor's Project No.:			
Project:	2022 Street Improvements (Street Improvement Districts 202	22-01 to 2022-07)		
Contract Name:	- Control Marie I No.	Street Improvement Districts 202			
Date Issued:		fective Date of Change Order: 12/30/2023			
The Contract is mo	odified as follows upon execution	of this Change Order:			
Description:					
	t Church on 21st and Final Quant	rity Adjustments			
Attachments:		nty rtajastinents			
	der #4 Item Breakdown				
Change On	del #4 itelli bieakuowii				
		Change in Co	ontract Times		
	ange in Contract Price		specific date or a number of days		
Original Contract Pri	ce:	Original Contract Times:			
		Substantial Completion:	September 15, 2023		
\$	1,905,856.85	Ready for final payment:	November 15, 2023		
	eviously approved Change Orders N		proved Change Orders 1 to No.		
1 to No. 3:		3:			
		Substantial Completion:	NA		
\$	63,033.90	Ready for final payment:	NA		
	to this Change Order:	Contract Times prior to this Cha	ange Order:		
		Substantial Completion:	September 15, 2023		
\$	1,968,890.75	Ready for final payment:	November 15, 2023		
Net change for this Change Order:		Net change for this Change Ord	ler:		
		Substantial Completion:	NA		
\$	(11,147.26)	Ready for final payment:	NA		
Contract Price incorp	porating this Change Order:	Contract Times with all approve	ed Change Orders:		
		Substantial Completion:	September 15, 2023		
\$	1,957,743.49	Ready for final payment:	November 15, 2023		
Recommended	by Engineer (if required)	Authorized	d by Owner		
Ву: 120					
Title: Project M	Manager				
	- Lanager				
Accepted by Co	ontrofor —		A		
Accepted by Co	JIM actur	Approved by Funding	Agency (if applicable)		
Ву:	1/1/				
Title: Project	Manager				

1/23/24

Date:

JEO Project Name:	er Estimate - Unit Price Work 2022 Street Improvements (Street Improvement Districts 2022-01 to 2022-07)	JEO Project Number:	220169.00			
Owner:	City of Crete, Nebraska	Change Order Number:	4			
Contractor:	Constructors, Inc.	Effective Date:	December 30, 2023			
I Item		Change Order Information				
Bid Item No.	Description		Item Quantity	Units	Unit Price	Total Value of Item (\$)
A9	Adjust Valve Box to Grade		2	EA	\$1,927.40	\$3,854.80
A16	Subgrade Preparation		324	SY	\$5.59	\$1,811.16
A30	Silt Fence, High Porosity		-100	LF	\$7.36	(\$736.00)
B21	Silt Fence, High Porosity		-100	LF	\$7.36	(\$736.00)
C11	Modular Block Retaining Wall		-10	SF	\$101.09	(\$1,010.90)
C15	Silt Fence, High Porosity		-100	LF	\$7.36	(\$736.00)
C_C04_1	New Manhole Frame and Cover		1	EA	\$1,352.78	\$1,352.78
D11	4" Concrete Sidewalk		466	SF	\$10.42	\$4,855.72
D20	Silt Fence, High Porosity		-100	LF	\$7.36	(\$736.00)
D_CO4_1	Handrail for stairs at church		1	LS	\$450.00	\$450.00
E15	Silt Fence, High Porosity		-300	LF	\$7.36	(\$2,208.00)
F14	Adjust Hydrant to Grade		-1	EA	\$2,891.10	(\$2,891.10)
F18	Silt Fence, High Porosity		-400	LF	\$7.36	(\$2,944.00)
G10	4" Concrete Sidewalk		91	SF	\$8.26	\$751.66
G22	Silt Fence, High Porosity		-100	LF	\$6.03	(\$603.00)
G_CO4_1	Remove Fence		245	LF	\$12.09	\$2,962.05
Н6	Remove Concrete Sidewalk		-6	SF	\$3.01	(\$18.06)
Н8	Remove and Reset Existing Hydrant Assembly		-1	EA	\$5,420.83	(\$5,420.83)
Н9	6" DIP Water Main, Class 350		-14	LF	\$548.11	(\$7,673.54)
H25	Silt Fence, High Porosity		-200	LF	\$7.36	(\$1,472.00)
						\$0.00
						\$0.00
					Total:	(\$11,147.26)

IEO Project Name:	2022 Street Improvements (Street Improvement Districts 2022-01 to 2022-07)	JEO Project Number:	220169.00	
Owner:	City of Crete, Nebraska	Change Order Number:	4	
Contractor:	Constructors, Inc.	Effective Date:	December 30, 2023	
	Item			
Specification Section No.	Des	scription		

Change Order Information
Scheduled Value
\$0.00
\$0.00
\$0.00
\$0.00
\$0.00
\$0.00
\$0.00
\$0.00
\$0.00
\$0.00
\$0.00
\$0.00
\$0.00 \$0.00
\$0.00
\$0.00
\$0.00
\$0.00
\$0.00
\$0.00
\$0.00
\$0.00